&% ohg Rl fE 4R $7)

@ = d7r4do] A

@ ul Wo] Pol7t B gt

® tizte] 2717t A& gk,

@ % gj7H4do] M= e AL ol 5 R

® Ul 7o) 717t m= 2ok



o°

Ay

HE



ol
S

A
%

<

ol
B

O

ol
!

~
L
__OO

Njo

oln

1.9 0 7

z
A

@ =



4. £ 7oA L.

~12cm” D~4em--

D 14em @ 16em @ 18cem @ 23em O 24 cm



5. th YA aABC & AC = BC 9l o542 gelct. BD = CD
ol /B=35°Y o, LACD 9 327]=?

A

BLi82

@D 65° @ 75° 3) 85° @ 95° 3 105°



6. TS 129 AABCO|A, AB = BC, AP = CPatr & o), x + 9
72

A 95°

@D 125° ® 135° 3 145° @ 155° B 165°



7. o2 O™-A P =400 d W, 1x o] 2717 (F, AP = AB =BC
)

@ 90° ® 95° ?® 100° @ 105° G 110°



@O AB =BC o|t}.

@ /A +/C=180° °|t}.

® ¢AOB = 90° ©|t},

@ /AOD + /BOC = 180° ©|t}.
3 AO.1BD ©|t}.
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D 15 ® 2 A 2.5 @ 3 B 35



10. o} 195} 2o] AD//BC ¢l AlthelZ ABCDOIA BF//BC % o,
vy ©] ke 77t 7Y

O x=3y=2 @ x=4,y=2 ® x=5y=2

@ x=4,y=1 ® x=35y=2



11.

thS oA AB/EF/DCe]2 AB:CD =4:1¥ o], EF : AB

=9

A




12, oh& 2™eIA sABC 2 W9] $4& o]o] §HE ADEF 9] £¢9]
Z10]7} 20cm & W], AABC 0] E&¢] Aol

A

=
Q

@D 30cm ® 32cm 3 36cm @ 40cm B 48cm



13. Fol WS the 2 Zo] AL W, sx o] 271E Fotolet,

@D 40° ® 50° 3 60° @ 65° B 67°



14. the 139 HaAIHE ABCD o)A AB =
5cm, AD = 8cm, /B = 70° °|t}. /D 9
o] 5=A3} BC ¢ wo] E o1l AFLED
d “q1 BAF o] 3719} BE 9] dol& 7}7}

O

@ 45°,3cm @ 45°,5cm

@ 55° 5cm ® 60°, 3cm
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250A’B’C’D’ = 90ABCD & W=E3sH= = A oA’B’C'D’
7 oABCD 7} Qlth. & =99 ggu= | |o]1, BC =
15em & o, B’C’ o] do]= I:]cm, A'D) = 12cm 4 o,

AD 9 Zol=[  JemE wEFh

® 1:4, 8, 10 @ 3:5, 8, 20 ® 3:5,9, 20

@ 5:3,9, 10 ® 5:3,9, 20




16. g J¥o|A AD - DB=2:5¢% o, EC
o] Zoj& Fapa?

D 25¢m @ 26cm ® 27cm
@ 28cm 3 29c¢m



17. the 193} 20| AD 7} 2A 9] 912He] o] 5141013 AACD 9] Hol7}
36cm? 4 4], AABC 9] Ho]&=?

@ 18cm? @ 24cm? @ 28cm?

@ 32cm? 3 36cm?



18.

b2 oA ¢//m//n, AP : PC’' =3 : 4
Ao, x,y o Zol=?

16
@ x=5y=6 @xZG,yzg
16 14

@ x=5y=> ®x=6y="—




19. the 1%°] gABCD 4] AD//EF//BC, AE : EB = 2 : 3 o],
AD = 6em , BC = 15cm 9 o, PQ 9] Zo]=?

12 1 24
@ gcm @ gcm ©) Ecm
—cm ® 6cm



20.

e 139 AABCO|AAD: DB =3:4, BE:
EC=4:3 CF:FA=4:3°]t} FP =
4cm, PC = 7cm € W, DP 9IPE 2] Zo] 9]
22 Fatolat.

@D 2cm @ 2.5cm ® 3cm

@ 3.5cm B 4cm



